BF

FiE)—5
Al)—4 ILfE¥ 4 )Lk | 8-CLOUD |[mA&xs5T| BIEKE D| B—K [[=Q v
wkEv o)Lk 2—1 2—1 2—0 3—0 1
8-CLOUD 1—2 2—0 2—0 2—1 2
HAREKIST 1—2 0—2 2—0 1—2 3
EIRKXE D 1—2 0—2 0—2 0—3 4
x H & FE HF1He F2HE E3HE

1—4 1-3 1—2

2—3 2—4 3—4
BY—4 EHEHHST| mIKYST | HEJITC B| HESYST B —BX & fz
EOESYTT 2—0 2—0 2—0 3—0 1
mgo57 0—2 0—2 2—0 1-2 3
HEJTC B 0—2 2—0 2—0 2—1 2
Hhto57 0—2 0—2 0—2 0—3 4
X H & FE HF1He F2HE $E3RA

1—4 1-3 1—2

2—3 2—4 —4
cl—o MOTLEYS A|DRUNKARDS| fR/ABkR= |4 EOFMETC| B—K & £z
MOTLEYS A 2—0 1—2 2—1 2—1 2
DRUNKARDS 0—2 0—2 2—0 1—2 3
BAKES 2—1 2—0 2—1 3—0 1
AOFHETC 1—2 0— 1—2 0—3 4
x H & B F1HE F2RE EIRE

1—4 1-3 1—2

2—3 —4 3—4




D\)—4 HT.UC A | INDUSTRY | B K% C |sztzeeEses—| [E—BK B 4z
HTUC A 2—1 2—0 2—0 3—0 1
INDUSTRY 1—2 2—1 2—0 2—1 2
EREXE C 0—2 1—2 2—0 1—2 3
HETTRAERL S 0—2 0—2 0—2 0-3 4
X R A& IE F1H46 F2HE E3HE
1—4 1-3 1—2
2—3 2—4 3—4
EJ—4 ERAXE A| HEJTC A |#MaEmElfs| B-—BK & {iz
BEXE A 2—0 2—0 2—0 1
HEJTC A 0—2 2—0 1—1 2
M SREFS 0—2 0—2 0—2 3
X R A& IE F1H86 F2HE $£3RE
2—3 1-3 1—2
Fl)—4 HTUC B | E£J)I1457 | HEJTC C B — BX B 1%
HTUC B 2—1 2—1 2—0 1
ENH5T 1—2 0—2 0—2 3
HEJTC C 1—2 2—0 1—1 2
X H & B F1HE F2REa E£3RE
2—3 1—-3 1—2
G)—45 HEFHSS5T |[MOTLEYS B GZC fi%s — B =R v
HE®BHST 2—1 2—1 2—0 1
MOTLEYS B 1—2 2—1 1—1 2
GZC 1—2 1—2 0—2 3
X i A& IE F1H4 F2HE $£3RE
2—3 1-3 1—2
HY)—%5 Families | B#E K% B|MOTLEYS C| MB—E & 1L
Families 0—2 2—0 1—1 2
ERXE B 2—0 2—0 2—0 1
MOTLEYS C 0—2 0— 0—2 3
X H & IE F1HE F2HE F3HE
2—3 1-3 1—2




BFRBS—FT A b

A1 gV 2Lk 0 BARAKES ci1l| 9
G2 MOTLEYS B 1 Lo 1 HEJTC A E2 | 10
0 1
B2 HEJTC B INDUSTRY D2 11
1
H1 ERXE B 1 HTUC B F1]12
0 ‘
E1 EBERXE A 0 0 HEmBIST G1|13
c2 MOTLEYS A 8-CLOUD A2 | 14
0 .
F2 HEJTC C Families H2| 15
D1 HTUC A EHESUST B1| 16
BFTLEb—F A
RN 1 0
A3 I AREBRYZ5T 1 DRUNKARDS c3| 7
s 0 )
B4 H1=952 BREX=E D A4l 8
H3 MOTLEYS C 0 1 EH5T F3| 9
) 0
E3| MPMEBKEIFE 0 GZC G3]| 10
c4 AOF#ETC 0 HEHIREEREVS—| D4 | 11
D3 ERXE C m#oI>7 B3| 12




F&)—5
Aly—45 BRXE N.N.C KAYST B — BR & {z
1 BRXE 2—0 2—0 2—0 1
2 N.N.C 0—2 2—0 1—1 2
3| KEY3D 0—2 0—2 0—2 3
X H & IE HF1HE F2RE EIHE
2—3 1-3 1—2
Bl—4 HEHST Families GZC B — BX & 1%
1| HESZD 2—1 2—0 2—0 1
2 Families 1—2 2—1 1—1 2
3 GZC 0—2 1—2 0—2 3
X #H & B F1:HE F2RE FEIHE
2—3 1-3 1—2




TR —F Ak

A1l ERXE 1 N.N.C A2
0
B2 Families 1 HEHSD B1
TFTHb—F AL
A3 KEYIZT 1| GZC B3




